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Good morning students,
We were discussing about present tense.
| hope,you must have studied about the rules of simple
Present,present continuous and present perfect.
Today ,we will discuss about negative and interrogative
sentence in present perfect tense.
L-6 PRESENT TENSE
I have discussed earlier about the
Structure of a sentence in present
perfect tense:
Subject + has/have + v3 + object
For ex. She has distributed toffee

In the above sentence :

(In has and have we write has with she)
distributed --------- third form of verb distribute.
toffee ------------- object

When we change it into negative and interrogative
sentence ,then structure will be:

In negative sentence:

S+ has/have + not +v3 + object

She has not distributed toffee.

In interrogative sentence:

has/ have +subject +v3 +object+?

Has she distributed toffee?



One more example:
| have completed my homework.
| have not completed my homework.

Have | completed my homework?

H.W. Write and learn the rules of present

tense thoroughly.Next assignment

will be included all the rules discussed earlier.
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